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(SECTION-A Uil_»)

Q1 Questions /=1 , A B c D :
> . a ¢ —
1. -+AP Mt gs0, +5 +6 +7 +8 |
Oxidation number of sulphurin H,S0, is:
2. -ttt Fe,05.nH,0 Fe,0, * Fe(OH);.nH,0 ' Fe(OH),
Formula of rust is: - : :
A ALHO Uit | wy 2y & gk
3. Y ,
Which one of the given elements does not Sodium Potassium Calcium Carbon
react with dilute HCI? -
4 94)',-0(1 }L&_,fji/?,’uf Clz AlOz N2 21 H20 Csz »l H20 HCI . HZ:O»
"' Which pair has polar covalent bond? Ozand Cl; | HyOand N, | HyOand CyH, H,O0 and HCI .
‘ A J )’/V/; JV ' a : -
5 e bl plr e By ‘js uE & S
X - ugar o :
Tyndall effect is shown by: g. Paints Jelly Chalk solution
. solution i
6. _4,%‘((/;(5')’0"—;&):‘( gom™ mg cm™ g dm™ kgdm™
" | The density of gas is expressed in:
b e e BT R L | PFBE 5 | LA e e S LEU |
7. | When a saturated solution is diluted, it Super Saturated Concentrated Unsaturated |
"' tumsinto: saturated solution solution solution
‘ solution v
' ?q,f:,»/&’:‘j"};}ﬂldgféwﬂ}ﬁig; oL ¥ Y, et
8. | Which one of the given Halogens has the Fluorine Chlorine Bromine lodine
lowest electronegativity?
te S SO Vs ks £ s
-+ 9- | Which of the given compounds is not CeHe NaCl KBr Mgl
soluble in water?
10 ‘ _gy‘dfyp 4&775{! 4%}( ] ,(,)P../Tuf 47"}:};'\.‘7
" | The p_éubshell has: One orbital Two orbitals Three orbitals Four orbitals -
11. - Jlar € 50, 98 ¢ 9.8¢g 98 amu 9.8amu |
The molar mass of H,SO, is: I
e e ey U | T Wit ok g
12. | The most abundant element occurring in Oxygen Hydrogen Nitrogen Silicon

the oceans is:

gyt
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Note:- Section B is compulsory. Attempt any two (2) questions from Section C.

SECTION-B (».»

Write short answers to any Five parts. (5x2=10)

Define radical and give an example.

What is Avogadro’'s Number? Give an example.

Write two observations about Atomic Modél of Rutherford.
Wirite electronic configuration of Aluminium (Al-13).
Write difference between periods and groups.
What is effective nuclear charge?

What is meant by first lonization energy?

What is meant by electronegativity?

Write short answers to any Five parts. (5x2=10)
How do elements attain stability?

Differentiate between lone pair of electrons and bond pair of

electrons.
What is the effect of temperature on evaporation?
Define standard atmospheric pressure. Write one of its units.

Why are the densities of gases lower than those of liquids?

What is meant byl% ?
. . m

How is dilution of a solution proceeded?
‘Why does suspension not form a homogeneous mixture?

Write short answers to any Five parts. (5x2=10)

Differentlate between oxidation and reduction.

_ What is meant by oxidizing agent?

Define galvanizing and write its advantages.

Does aluminium rust? ‘

Name any two very reactive metals.

What is meant by metallic character?

How are non-metals essential for the existence of life?

Write the,trend of non-metallic character in-group and period?

"SECTION -C /y_»

Note: Aftempt any TWO questions. Each questionb carries nine (9) Marks.

5. (a) Define molecular ion. Write any four differences

between a molecule and a molecular ion. (1+4)

(b) Draw a labelled diagram to show the presence of

protons in the discharge tube and explain how were (1+3)
canal rays produced? '

(a) Write down the properties of metals. - (5)

(b) State Boyle's law and explain it mathematically. (1+3)

(a) Define electrolysis. Explain electrolytic refining of (2+2+1)
~ copper with the help of a diagram.

(b) Narrate four characteristics of colloids. @
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-You have four choices for each objective type question as A, B, C and D. The
question number in your answer book. Use marker or pen to fill the circles. Cu

(SECTION-A Uii»)

cholce which you think is correct, fill that circle in fromt of that .
tting or filling up two or more circles will result no mark.

Q1 Questions /= uis A | B c o
s . "}/ 5 '.: .y 3 5 ".'_.’,: 2 . ‘\e
: 4 Qedadiadfestontig | CELH | SR s | g
' Along the period, which one of the given decreases? Ao Electron i Electrong; avtivity
' ' ’ radius affinity energy RepAVEY -
P . ) 7
5 4 AT 3TN U HNO, p " o 5 ;
Oxidation number of nitrogen in HNO, is: & i
-q__dlﬁ'(bawdcﬁ,»f J’edﬂ . ('ﬂ.fifd tﬂjj;ﬁr,&‘ lﬁJ/fq.J '
3. . Chemical . ) Rusting of L :
The most common example of corrosion is: Rusting of Tin - Rustingof fron
. decay - Aluminium : :
: 1
. S Sl hig L HC et | gy 2 2Ly oY i
Thq element which will not react with dilute HCI : Sodium Calcium Potassium Carbon
) ' . i o , ‘ i
5 -g-bauimmg 2 g K014 60°C | o 55.3 149.4 3551 |
Vapour pressure of water in mmHg at 60°C is:
o 3 b L o2l
,4_&%((‘{4} L(;Lfd’uﬁcf}’(lfloﬂuf- em® iy S % il % L % (= % — o
2l % oyl L
6. | Ifa solutein cm? is dissolved in 100g of the e, & et %
solution, the percentage is called: L) Moy % Bk s
i . \4 m \4 m
, ‘e bt Adiiica | o i/ gy Froiy
Which one of the given is a ‘liquid in solid’ solution? Butter Fog Saltinwater | Sugarin water
S w3 FIE S ki )
8. | How many electrons does a triple covalent bond 6 8 4 3
involve?
9 MLl 1ic (] 235- (‘:.:ng.»z 2y b2Y2 iisy u”’J/
' When U-235 breaks up, it produces: Electrons Neutrons Protons Nothing
Lcﬂ]cf—a"ibﬁ&‘&l ki{)}qw‘(&)&# )“?J/“:'l..gue o J_:f/.{, LT LA Fom Ty
10. ; ,q.&ﬂ(‘,(ju(.vtu‘/u
When an electronegative element combines with an Covalent Polar lonic Coordinate
electropositive element, the type of bonding is: covalent covalent
i _4,er L_,Cmdu;s(/ Hel CH, H, co,
The: compound that is a polyatomic molecule: -
12, _4—';'//‘“?/»_//11)‘/(97;5‘/0) HCl C6H6 NaCl HZO
The compound that shows formula unit is:
18-123-1A-42000 * k4%
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2. Write short answers to any Five parts. (5x2=10) -
i. How will you differentiate between Organic and dg,ffﬁ/'uf(j%fﬂf‘jjul.,@f .i.
Inorganic Chemistry? "éu’ fulf
ii. What is the significance of writing an element in a symbol? “c,mbb”b’é:;c)/f&/‘;&ﬂ i
iii. Define isotopes. Write the isotopes of hydrogen. cﬂog/)/fé_u’;w uléd}’&f}’ﬂ .ivii
iv. A patient has Goiter, how will it be diagnosed? ?Z,u./é_/u‘.’)dcﬂ 44/’.’9/()"’/&.@{} v
v. From which element do lanthanides series and 4w~)-1u"(zﬁi,‘ruffgutz,_ﬁ:;bv"‘f v
actinides series start? ‘-'UL'B""'C!;‘

vi. Why does shielding affect increase down in group? ?+b2uﬁa/6§=uﬁ?«)/‘:&@l L i
vii. Why is the 2nd ionization energy of an element ol SLG NP TS pasSeiais” il
higher than the 1*' one? tenyd
viii. Define electron affinity. a‘f,if,;(fdjluf}—a' ".v.iii

3.  Write short answers to any Five parts. (5x2=10) é/,gutli’/é,l/lz},k.:..{}f .3 o

i. Define single covalent bond. éu’/’ ijLJ_,fo' ‘;i::

ii. - Write difference between lone pair and bond pair. ,zirg/U/u-'. _,;L/;I(_‘;QJ i)
iii. What is meant by polar covalent bond? ?4_:!/Lf4.£L+}Jf)g i
iv.  Why are densities of gases low as compared to solid and liquid? ?uiaﬂul/édbulu,“‘;_‘/ﬁd;{ v
v. What is meant by transition temperature? ‘.'4_:1/.1,”4./};}&7'-1/‘ RY
vi. How can you distinguish between pure liquid and solution? ?dégfﬁ)qful_,miuﬁ}’ulébgf‘b;vf v;

vii. Define solubility. Fo I8 Gty i
vili. Why does suspension not make homogeneous mixture? ?L&ujuﬁ/fﬁfﬂ@é’/ Vit
4. Write short answers to any Five parts. (5x2=10) -ég F el 4 L»mlé&a&f 4

i. Whatls étainless steel? ?ébny’d:b.‘ﬁ!gﬁ& &y
i. Define alloy witfing help of an example. Eal Jos S ‘,.ii"
ili. Write two methods for prevention of corrosion. -Zég/’&)n[.i&‘:.dﬂ‘;f .,_i'ri“'
iv. How does electroplating of Tin take place? ?+Gﬂ4( Mk g8 IV
v. What is meant by 24 carat gold? Sl e d oyl 324 v
vi. What is the difference between alkali and alkaline earth metals? teJilrus :Willdﬂﬂml(f}ll' Wi

vii. Write'two uses of calcium metal. ,aa.-,uu"u,éd‘*’i‘-’ i
vili. Why are silver and gold less reactive metals? ct )"r;‘.(ld//u;:"ﬂfub}’ it

LADI Ly 1 gLy ne (fisi

Note: Attempt any TWO questions. Each question carries nine (9) Marks

5. (a) (Ij);fill?le chemistry and explain its any four branches in ) u[,‘,‘}v"’fu, L,Ld{éw,,;é_,;/; &5// ) .5
(b) Describe postulates of Bohar's Atomic Theory. ) éul,fum/i_dl/vcw&/i (& .
6. (a) Define hydrogen bonding. Explain how these forces 5 //}Jéyu;dqm,éq,‘ (SJ;LJM:Q () .8
affect the physical properties of compounds? mdmurm/ur!/,&pﬁgfd;ﬁjg/ ‘ R
(b) Explain the factors which influence diffusion in liquids. ~ (4) _éuwdi}g&,b&ﬁim}u SBASEL ()
7. (a) Define electroplating. Describe electroplating of silver.  (1+4) éubﬁ:;@f&)’é_{qfdﬂ;/ﬂ (WD .7
(b) D‘efslcribye éhy four characteristics of colloids. “) ,zéuggya,é,w&fd;zuf Gl
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